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AdetRaw RMS (ppm)
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1D pull distribution

asym_hcm_target (ppb)
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asym_bcm_target RMS (ppm)

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy

0’182y
08¢y
€'08¢y
¢'08cy
T'08cy

0'08¢y
v'6ley
€6y
26ley
T'6Ley

0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley

08¢y
viiey
€lley
clLiey
Tlley

o'Lley
v'oley
€92y
c9ley
T9Ley

0'9.¢y
v'aley
e€aley
c'sley
T'Sley

0'sley
geLey
celey
TeLey

o'eLey



+0.1767
+ 0.125
5.357/8
8.101+ 1.667
1.363 + 0.255

1.299
-0.1437 + 0.2203

-0.01359

Mean

Std Dev
Underflow
Overflow
X2 / ndf
Constant
Mean
Sigma

1D pull distribution

bl oo Ly
0

2+
O-I 1 I|
-8

409

+

91.06 /53 hH

—806.5

X2 / ndf
0

p

asym_us_avg (ppb)

AN RN EEE R

10000

5000
5000
10000
15000




g RMS (ppm)

us_av

asym_

_____
o
oy
™

(wdd) sy

340 B

v'v8cey
£v8cy
cv8ey
T'v8ey
0'v8ey
v'egey
£'esey
c'esey
T'esgey
0'egey
v'e8ey
€e8ey
c'esey
T'eser
0c8ey
'8¢y
€18ey
'8¢y
T18cy

0’182y
08¢y
€'08¢y
¢'08cy
T'08cy

0'08¢y
v'6ley
€6y
26ley
T'6Ley

0’62y
v'8Ley
€'8Ley
¢'8ley
T'8Ley

08¢y
viiey
€lley
clLiey
Tlley

o'Lley
v'oley
€92y
c9ley
T9Ley

0'9.¢y
v'aley
e€aley
c'sley
T'Sley

0'sley
geLey
celey
TeLey

o'eLey



3 3 £ 3 2 3
+ + © _w_ + .M_ -
g 8 g 8§ .
3 a4 o S - i
g E =
T -
H =
3 m m k<] 8 o
c|ls§g ¢ & 35 §E z 5 E
§|f 8 5 & = 8 & ¢
5 —]
b -
s ]
2 ]
© -
= -
o =]
o =
-
PR [ TR TR W [N SN O TR ' ! ! ! ! .
S 3 ® °
[ ——i R R S A
—— —
m © — —
IYe) .
(o] ——— —
~ N ——— —
— N~ ——— —
I 4 —e—}— —
10 —_— —
~N & L I
—_— —
™~ —e—— —
< f— ]
—— —
—e—1 —
—_— —
rlm —_—— —
—_— —
c
—_— —
=~ — —
O —— .
> . -
- —
_ ———— —
0 D . _— —
o — —
= —te— 3
—_—— —
qu —_— —
u_ —_— —
—_— —
= — e -
> —_— —
) ——— -
—_— —
—— —
—— —
—_— —
H—— —
— —
—i— —
——— —
—— —

H

5000

10000

15000

0000

5000




asym_usr RMS (ppm)
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asym_usl RMS (ppm)
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr RMS (ppm)
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lagr_asym_usl RMS (ppm)
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